A & ol & AF Y E A A
2018 T =0 & 2urs|d
SA: HSXRD
B 200 HISI4Y
o200 FAEMLALY
8 211 AU AY (ol & @
SH-F-2-8 0l & o8 ol are HRE2
= 5,289,797 7,992,393  A2,702,596
S 5,289,797 7,992,393  A2,702,59
200 il 4l 3,330,000 3,930,000 600,000
210 ZA= M2+ 3,330,000 3,330,000 0
211 THArUTH 42 80,000 80,000 0
211-02 BRMAAHS 80,000 80,000 0
OZZABAA U 80,000,000 80,000
212 ABE4Y 3,250,000 3,250,000 0
212-08 JIEIN B & 3,250,000 3,250,000 0
OZZASAL NEE 3,250,000,000 3,250,000
500 £ x2 1,959,797 4,062,393|  ~2,102,59
510 2 DB X3S 1,376,907 950,073 426,834
511 2NEX3ES 1,376,907 950,073 426,834
511-02 XL HSHs|H2ES 1,002,000 600,000 402,000
OSRSE7E ZHAY 540,000,000 540,000
OFAMEBH ZHAY 462,000,000 462,000
511-03 712 374,907 350,073 24,834
OHLH MEHSNEX 29 102,432,000 102,432
o024 Y MBUSKEX 29 64,020,000 64,020
OAZZLH0ISH A 208,455,000 208,455
520 Al - SHIEZE2S 582,890 3,112,320  A2,529,430
521 Al - SHIEE2S 582,890 3,112,320 | A2,529,430
521-01 Al - SHIE® X2 S 582,890 3,112,820 |  ~2,529,430
OAEZLHOISHAY 26,801,000 26,801
OMENSDA 29 10,886,000 10,886
OMENE 84 4,000,000 4,000
OOZOIAMSDA 29 1,901,000 1,901
OF24 MDA 2 1,901,000 1,901
OF4+L2 HMSHE 29 2,074,000 2,074
ONEMENE (s 2 1,123,000 1,123
OM298l FLMEHSH 520,000,000 520,000
O2gUE 24 HS 604,000 604
O MSSotel X 13,600,000 13,600




= A
N = 0] &F AF S & AN A
20188 = 20 A LBt H M= A& D
2A4: MR
HM: MEHE 4
e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
<Xt 19,132,910 17,050,298 2,082,612
Xl 1,002,000
Jl 374,907
= 582,890
Al 17,173,113
MEHs |4 9,955,455 4,760,017 5,195,438
Xl 1,002,000
Jl 374,907
& 582,890
Al 7,995,658
MEH S 243 , , , , ,
M EHH FA S 1,263,623 1,185,497 78,126
J| 374,907
o 62,890
Al 825,826
MEHSDA 2H(EHEX) 36,288 36,288 0
= 10,886
Al 25,402
307 QI2t0| ™ 36,288 36,288 0
& 10,886
Al 25,402
02 QI2tAMAIE E X 36,288 36,288 0
Ode=wa 29 36,288
& 10,886
Al 25,402
MEHSDA 2SS (MHMMH) 3,000 3,000 0
307 2Iz2t0| A 3,000 3,000 0
02 QIZFAAAIE E X 3,000 3,000 0
OlFnas 89 3,000
MEHEUE Hxl & ZHIXS 374,100 317,100 57,000
202 o4l 2,100 2,100 0
01 2Ll 2,100 2,100 0
OMENE 280 2,100
307 212t0| ™ 372,000 314,000 58,000
02 AI2tAMAIE E =X 136,500 141,500 A5,000
OQolZt HIES;HAF AFY BX 20,000
OMEM=UZ M2z It XA 13,500
O3MEE MEXsUsAE &I X 95,000
Odadr MEHsUlsdE altta X 3,000
Oodg & &A= AHOIE=U3 ZFFI 5,000
04 SIZ2HSHAALSH E & 235,500 172,500 63,000
OMEl=s =54 3 &6l sl X 142,500
OHM20a A ZHf BHESIE S JHH 4,500
OHM203 A&EI ZJI=322U3 W= 20,000




=X
CHENE =54
P dEHs 245

SA - ZE-B(EA) - NRAY - B S il &t o il
02018 AM2IE=EIIHE M= 10,000
ORM282l ZoHAIZEIl HOIE=SUHE = 3,000
OHM113l 2oHAIZE T+ CHal JH = 4,500
OM37al ol AIEI] HILIATE JHZF 3,000
OHM2g ZoiAEI M| &7 Hal Nl 5,000
OHM22l oAl Ia2=2 Hal JH=l 3,000
O8.15&F=&JIE ===dZ ZJIUal A 40,000
UBTMEN SN A WX (B2SX)(2LEX) 204,864 204,864
J| 102,432
Al 102,432
307 glz2tol & 204,864 204,864
J| 102,432
Al 102,432
02 It M AHE X 204,864 204,864
OFYN MEMSXNEZX BIX X2 (8Y) 204,864
J| 102,432
Al 102,432
UBME S SA BIX(2SXS)(RHMIHE) 22,080 22,080
307 21201 A 22,080 22,080
02 YAFHAANGFEX 22,080 22,080
OFYH MM nsSH X
100,000& * 8% » 12JH& 9,600
OFYH MeEMSXNEX =4H X
130,000& * 8% » 12JH& 12,480
MEHESSL Nd 4,000 4,000
< 4,000
307 i+l & 4,000 4,000
< 4,000
02 ItE M AHEE 4,000 4,000
QdeEr=ssd 4,000
< 4,000
MEXsZ IS 25,342 25,342
< 7,603
Al 17,739
307 21201 A 25,342 25,342
< 7,603
Al 17,739
02 B AAHEX 25,342 25,342
O0glldsuns 29 6,336
= 1,901
Al 4,435
OFAdEdendd 29 6,336
= 1,901
Al 4,435




2N
X ZH -
L= B
el

=X
HEHNE |4

MET =

g4

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ==oMsUs 23 6,912
< 2,074
Al 4,838
OnddeN=sUs 24 3,744
< 1,123
Al 2,621
OS8UE FA2HM=S 2,014
< 604
Al 1,410
H2d MENMSXAZX HIN(ESXAA)OISEX) 128,040 128,040 0
J| 64,020
Al 64,020
307 glz2+ol & 128,040 128,040 0
J| 64,020
Al 64,020
02 HAHFHAANGEEE 128,040 128,040 0
OEadY MEMSXNA BIXl X2 (5Y) 128,040
J| 64,020
Al 64,020
HEa MEMSXZX BIX(2SXE) (M) 13,800 13,800 0
307 21201 A 13,800 13,800 0
02 IS AT EL 13,800 13,800 0
Oy MEXNSXNEA nsd XA
100,000 » 5& = 12)HE 6,000
Oz dg MENSXEA S4H XA
130,000 » 5& = 12JHE 7,800
ZOHe M=g2s N 97,117 111,468 A 14,351
307 21201 A 97,117 111,468 A 14,351
02 HIAFAAFEX 38,500 29,500 9,000
OZHMAH Ot ENS FIt 2,000
OsOot M =sUa &It 3,000
Osotel 2d s &It 2,000
O3dg ZUMUMEXsUHa ot 8,000
OHMeN= =0 XA 10,000
OM17al HOHAIIIME cdlZE s &It 1,000
02018 I XNHMEOMC MU= &It 1,000
OM11al BEEZXAI HOIEZ d=+=2 3
=l 1,500
OHM203 LNEAH0E=Z d==AUS FHIt 1,000
OZHAZOHA M F & Al&HA 3,000
OFMeIN=3 & 2] 6,000
03I M E AL EX 42,617 40,968 1,649
OUBHAIZHOIRISS o121 39,617
- = 39,617




M MEXE 0
M MEHE 24

Helr dMEHs 245 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
s 2,120,900 = 12& 25,451
d2+g 2,120,900& = 23| = 15% 637
HEFOH 2,120,900& =* 23 * 60% 2,546
AgExasY 125,000& » 12&8 1,500
= 4ltl 130,000& = 123 1,560
A2tel =5 8,980& = 10AI2t = 128 1,078
S A
2,120,900 » 86% * 1/30 = 7€ 426
E8= 33,198,000 * 11% 3,652
SR 33,198,000& /122 2,767
OZAIZMHLM=ES MRE= 2SI 3,000
04 QIZFHALAIH E = 16,000 41,000 A 25,000
OM12l ZoHAIEH I FHASAUE KAl 10,000
OHM23l ZoiAIEI HOHAHNOIESUHE HA 4,000
OHM13al XIMEOHASHOrSHMIUE I = 2,000
el M=ssotel X 27,200 27,200 0
=) 13,600
Al 13,600
307 21240 & 27,200 27,200 0
=) 13,600
Al 13,600
02 It HAMAEE 27,200 27,200 0
OZMM=S0tel X& 27,200
< 13,600
Al 13,600
AEX 2% 0EA XA 297,792 262,315 35,477
J| 208,455
< 26,801
Al 62,536
301 e A3 297,792 262,315 35,477
J| 208,455
< 26,801
Al 62,536
01 MI28E +06l= 297,792 262,315 35,477
OAEZ=2X0ISHAY 297,792
J| 208,455
< 26,801
Al 62,536
2. #4249 =32(1-210) =29 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH 2 = 30,000 30,000 0
o2017d 8. #adE 53(|-210) 2<% 30,000
HEAL &5 & K2+ 6,910,332 3,574,520 3,335,812
Xl 1,002,000




OER R
I MBHS =4
==

Sl HS A RES RS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 5,908,332
SA4MSAE LAY 700,000 1,754,000 A 1,054,000
401 A& HI L 20l 700,000 1,754,000 A 1,054,000
01 Al 700,000 1,752,000 ~1,052,000
OZ4HSAE ZEAY 700,000
S3HEAE =4 100,000 250,000 A 150,000
401 Al HIZ 2018 100,000 250,000 A 150,000
01 A& HI 100,000 250,000 A 150,000
Ottel=2ta2Td HAALE & 100,000
HEALE SN2 1,520,332 1,490,520 29,812
101 @124l 18,072 0 18,072
04 J12ZtHZ22 s+ 18,072 0 18,072
Oomza==d aclael o2y
60,240 = 15% = 52 * 43| 18,072
201 Let2d] 187,160 185,720 1,440
01 At 22l 22,120 22,120 0
OMLHE BHHE
70,0003 * 1504 = 2&20F * 33 6,300
OMSAE RA2el g & SIIXH=
500,000& * 53 2,500
O=sdsa =T ARSI Xz
170,000& » 128 2,040
OYstael A8s=2
120,000& » 20 A& « 12& 2,880
O&Jletd el tHe==+=8 700,000& = 122/ 8,400
02 =224l 165,040 163,600 1,440
OM=AE RXH 70,000
OM=3d € Hsd & dIIMEE
450,000 = 16IHA = 128 86,400
OMSAE &dt=& AEZ
60,000 * 12004 = 128 8,640
202 o4dl 2,100 2,800 AT700
01 = LH o4 1l 2,100 2,800 A700
OMSAIE X - 22 R 2,100
207 A RO 90,000 0 90,000
01 A7 39l 90,000 0 90,000
OMSAE s MEEH
15,000,000& * 6IH & 90,000
307 21201 A 60,000 59,000 1,000
03 IAHMEE2LHIES 60,000 59,000 1,000
OM=E3ARAY dXE 36,000




M MEXE 0

3N dEHN=F

Jo o
of 0x

S MFAE 2 RIS (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONM=3 Y M AIRA FIIMEBE
2,000,000& * 12& 24,000
401 Al HI L 2 0HHI 1,088,000 1,243,000 A 155,000
01 A& HI 1,085,000 1,240,000 A 155,000
O33SHEBAE RANE* 450,000
OXoZMESSE ANE= | 30,000
O&AHORE =4 AMENH 65,000
O&aHHLAE AIERA 300,000
OUls U=SHE HOE=SH AAdMA 50,000
OSEAZXHEH 22 A 100,000
Od218IN&E 32X &X 500,000& =« 180m 90,000
03 A& 20 Y| 3,000 3,000 0
OM=EAYE SNBSS AMEFUHI 3,000
405 XHaHF S| 75,000 0 75,000
01 MY = ZFSHI 75,000 0 75,000
Oomazs=Z & &Cj2I| JIH 2 75,000
SERESESAE ZHAY 1,800,000 40,000 1,760,000
Xl 540,000
Al 1,260,000
401 AIEHIL 20| 1,800,000 40,000 1,760,000
Xl 540,000
Al 1,260,000
01 Al&Z Bl 1,797,000 40,000 1,757,000
SRESESPE ZHAY 1,797,000
Xl 540,000
Al 1,257,000
03 A& 2 0HbI 3,000 0 3,000
OAN&EL20UbI 3,000
AAN=ESA RHAMY 1,460,000 40,000 1,420,000
Xl 462,000
Al 998,000
401 Al HI L £ 0HHI 1,460,000 40,000 1,420,000
Xl 462,000
Al 998,000
01 A& HI 1,458,000 40,000 1,418,000
OfdMEs3d Z8A 1,458,000
N 462,000
Al 996,000
03 A& 20HYI 2,000 0 2,000
OAN&E=R2UbI 2,000
NAAILRAE HE 700,000 0 700,000




M MEXE 0

3N dEHN=F

Jo o
of 0x

e HSAE 2 XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 700,000 0 700,000
01 Al&H| 700,000 0 700,000
OAANEHESH S 700,000
s 532 Fd 200,000 0 200,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OZBRHSIZY HHs 22T x4 200,000
gds dsa =4 350,000 0 350,000
401 Al HI L £ 0HHI 350,000 0 350,000
01 Al& H| 350,000 0 350,000
OAANEHESSHE S 350,000
s MY HdAIE XM 80,000 0 80,000
401 Al HI L 204 HI 80,000 0 80,000
01 Al&H| 80,000 0 80,000
OAAEH 9| 80,000
MEHsUHsA 1,781,500 0 1,781,500
= 520,000
Al 1,261,500
H203 AgMeisd 1,781,500 0 1,781,500
= 520,000
Al 1,261,500
201 Bt 6,000 0 6,000
01 AP 22| H| 6,000 0 6,000
OZB4EA Lot 3,000
O AEA S| 3,000
202 o4 | 1,500 0 1,500
01 2Ll 1,500 0 1,500
OUsd g2=& &0 1,500
307 2iz2to| A 1,234,000 0 1,234,000
= 20,000
Al 1,214,000
04 CIZ2tSHALALS B X 1,234,000 0 1,234,000
OZEMENSUSE N 1,234,000
= 20,000
Al 1,214,000
401 Al HI L E0HHI 540,000 0 540,000
= 500,000
Al 40,000
01 Al&H| 540,000 0 540,000
OUEd ZIE B 540,000
& 500,000




M MEXE 0
M MEHE 24
tel: MEHSUHSH

SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
[ 1] A 70,000
HEM=E 4 7,480,035 11,528,959 N4,048,924
A EM=E 243 7,480,035 6,602,669 877,366
ANE =328 29 2,724,020 3,075,388 A 351,368
201 LEt2 Y| 111,400 96,000 15,400
01 At 22l Yl 85,200 73,400 11,800
O == 22l 1,600,000 128 19,200
OWAY2l ol AGHI 50,000
Os7& 29| 200,000 128 2,400
Osd) 22 HE S 10,000
O&d=Xte BloOIIHAIIE &H
300,000& 123 3,600
02 33249l 26,200 22,600 3,600
ONfE=md TAIARS 600,000& 128 7,200
Od=xtg sl 1,250,000 128 15,000
OdaXte B2 1,000
ONa=4 Y L TV A2
250,000& 128 3,000
202 O B 1,400 1,400 0
01 2ot 1,400 1,400 0
OU&Ed &322 bl 1,400
301 dEtEAZ 2,351,220 1,997,988 353,232
09 HALAHIBEA = 23,100 14,760 8,340
O=d)| MBI AU 2AH 19,350
—-OotZEY 3¢ 3,000
-Sg4 2Y 4,500
- &UW OtLI=2 A 3,000
-JIB3 (D], HA&H) 2,100
-2520| 3,750
- A& EHY| 3,000
OMEZHA #SHl X 250,000& = 153 3,750
Vo=t - 2sESE4A2 2,328,120 1,983,228 344,892
O] 1,595,800
-Jlaa2 1,397,000
A 60,000,000& * 1H 60,000
=4 DX 50,000,000 = 14 50,000
GKZ2 X 46,000,000 * 14 46,000
- Edloly 42,000,000 » 14 42,000
= (AS) 55,000,000& = 54 275,000
&d==(83) 45,000,000& = 109 450,000
S (C3) 30,000,000& * 59 150,000




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
&= (02) 20,000,000& * 10H 200,000
- 22X E A 32,000,000& * 1 32,000
H A DA 32,000,000 = 1 32,000
CANR=E 30,000,000 * 1& 30,000
=4 X2 30,000,000& = 1 30,000
- 680,000& = 259 * 103 170,000
-IExE 9,600
o < Xt 40,000 = 10¥ = 12& 4,800
S2AIE 20,000 *~ 20¥ * 12& 4,800
- XEstd &S (nsstn)
400,000 * 3H * 43| 4,800
-5 g3l 1,200,000 = 12& 14,400
OE&s= 173,860
-d4C MAEEE 12,000
-4 282 1,599,400,000& * 10.12% 161,860
O 22 50,000
O=sddl & &3 Hl 378,840
—gxsEl
28,000& * 35Y x 202 * 12& 235,200
-3 =& EH 88,200
CUHAEe D FEE D
72,000 * 35 * 22 * 103/ 50,400
MY 2 03 L FACup S
72,000 = 35YH * 15 37,800
HX=&dl 72,0008 * 35H x 11 = 23| 55,440
ORxdX&A 22,800
-l YaX Za2 8,000
-REH AJI2H| 10,000
-6 XI&H| 200,000 * 2 = 12& 4,800
Oolls &« 283 96,940
-=373 250,000 * 34Y » 3& ¢l 25,500
-SUZ 66,000& * 30Y *» 494 * 23| 15,840
-Fcld & 8= 900,000& * 34™H x 13 30,600
- E12SE23 5,000
el 1,500,000& * 128 18,000
-2LUZ3 MNEY| 200,000& = 10& 2,000
ORad4 XEH| 2,000
OAHAE A 2,500,000 = 23| 5,000
ODEAHEZ ESE0WHl 72,0008 * 44 = 10 2,880
405 Ko SHI 260,000 980, 000 A720,000
01 A&t = S F SHI 260,000 980, 000 A 720,000
OANEZRE =4 F2¢ 260,000,000 = 17H 260,000
HEUs &2 & It 2,042,983 1,771,857 271,126




M MEXE 0
AN HEHE 24

Hel: delEMS 243 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
202 o4 4 3,800 5,200 A 1,400
01 SLHOYI 3,800 5,200 A 1,400
OM=EAH HR=X0H| 3,800
203 Y=Yl 2,000 2,000 0
03 Al =P =AY 2,000 2,000 0
OM=X&a L&l 2,000
307 212t0l & 2,037,183 1,764,657 272,526
02 QI BAANHEE 957,590 955,200 2,390
ONb672 B4 E2UMFUE 372,290
-ZOHAE S8 181,990
- 2ME =8yl 152,500
—dRAY AR Hes 37,800
CONAEUE R+ S4H| 432,000
ONo9sl H=HM=ICH2l HItXE 10,000
OM472 8=AHMSUH A2 5,000
Od=0U3 Jax A 40,000
O2017& FEMSS dLU Fot 6,300
02017 ZaHAIM =& Al&a 2 Hsele & 6,000
O&CE M= AASSHMAA 64,000
ORUIIEIA AZ=WF Y| 14,000
02018F ZoHAl .S LIIIEIAl AE0FRE BR 3,000
ON=3 JASSHH H3AS 5,000
03 eZHNEE2EHIEE 1,079,593 809,457 270,136
O2t=gdJ18 2494l A& 15,000
OsSthduwIIXNEX K& 68,400
OM=2 2Xl A8 X
1,600,000& = 178 « 128 326,400
OHM=z X 400 2=
326,400,000& * 11% 35,904
OM=s3 ZX XY I
326,400,0008 = 1/12 27,200
OM=3 AM2= 24l 37,500
OB AIM=F 2l 2r2Ad| 278,785
-Jl2= 209,233
CARRE(HS) 46,855
CAPRIZE (621832 JIE)
3,067,400& » 123 36,809
AMNLEER (72108 JIE)
2,534,100& = 12& 30,410
29972 63 JE)
2,169,600 = 12& 26,036
SR (72 958 JE)
2,448,100& = 12& 29,378




M MEXE 0
AN HEHE 24
& deEMSE 45

SA - ZE-B(EA) - NRAY - B S il &t o il
=2 (8= 43 JIE) 1,781,300& = 128 21,376
gg (328 JI&E) 1,530,700& * 12&8 18,369

-3z2=+¢ 8,119
CAPRAXHE 3,067,400 = 45% * 23] 2,761
AL EE 2,534,100 = 40% * 23| 2,028

=2dEE 2,169,600& = 25% * 23] 1,085
- EREE 2,448,100& * 25% * 23l 1,225
=g 1,781,300& * 20% * 23| 713

-2y (338 JIE)
1,530,700& * 10% * 23 307

- EFOHl 16,239
AR E 3,067,400 * 60% * 23l 3,681
CANEEE 2,534,100& = 60% * 23| 3,041

=2IEH 2,169,600 = 60% * 23| 2,604
SREE 2,448,100& = 60% * 23] 2,938
=g 1,781,300 * 60% * 23l 2,138
gg (32 JI&E)

1,530,700& * 60% * 23| 1,837

—AgEXxsY 14,700
CAMNRIE 400,000& = 12& 4,800
CAPRAXHE 1565,000& » 12&8 1,860
- AMNSEEE 140,000& * 128 1,680

2IEH 140,000 * 123 1,680
EREE 140,000& * 12&8 1,680
=g 125,000& * 12& 1,500
gg (32 JI&E) 125,000& » 12&8 1,500
- Mg A 10,920
MNE2E 130,000& » 12& 1,560
- AR IXHE 130,000& * 12& 1,560
- AMEEE 130,000& » 12& 1,560
=2IEE 130,000& * 12& 1,560
SREHE 130,000& » 12&8 1,560
=g 130,000& * 128 1,560
ge (3g3 JIE) 130,000& * 12& 1,560

-JIEg 9,120
AR =E 220,000& = 12& 2,640
CAPRAXE 120,000& » 12&8 1,440
AL EE 120,000& * 128 1,440

SREHE 220,000& = 12& 2,640
=g 40,000& = 12& 480
ge (3s38 JIE) 40,000& = 123 480
— GOt &HH| 3,473




M MEXE 0
AN HEHE 24

el AelEMS 438 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NR=E
3,754,400 * 86% * 1/30 = 7 754
CAPRAXE
3,067,400 * 86% * 1/30 » 7 616
A e E
2,534,1002 * 86% * 1/30 » 7 509
==L
2,169,600 * 86% * 1/30 *» 7 436
zegy
2,448,1002 * 86% * 1/30 » 7 492
=g 1,781,300 * 86% * 1/30 » 7 358
gg (32 JI&E)
1,530,700 * 86% * 1/30 7 308
—AM2HA=E 6,981
© APSAXHE 11,070& = 10AI2H = 128 1,329
- AMEEE 10,0002 * 10AI2F = 12& 1,200
2IEH 10,000& = 10AI2+ » 12& 1,200
SREH 10,0002 » 10AI2F = 12& 1,200
=g 8,980& * 10Al2H = 12& 1,078
ge (3g38 JIE)
8,110& = 10AI2t = 128 974
OMEZ AH EANEZ 278,785,000& /128 23,233
OAMR2 M 4EE=  278,785,000& » 11% 30,667
OM<=3al HADIAL 1248l 2,200,000& = 12& 26,400
ONMES HAIIA 401 BEE S
26,400,000& * 11% 2,904
ONME3 HAIIA EXNHY2
26,400,000& = 1/12 2,200
OM=s3 Mg 2IH(S AL, 2E85S) 15,000
OZolAld=s HA 72 190,000
oto1g 29 1,617,632 1,515,424 102,208
201 LBH2E| 37,955 9,000 28,955
01 At 22l 6,600 5,400 1,200
Odhal=4a 29l 150,000& * 123 1,800
Odtal=x ME & FAES 7
150,000& * 123 1,800
OdtIl=A MEARE 2 150,0009 * 128 1,800
OGtII8 Xt& SHOIHAIE A
100,000& » 12& 1,200
02 8322l 31,355 3,600 27,755
OdhII8 Xt Edx 1,000
Odal=a gyl & Ttz &
250,000& * 123 3,000
OodtaIg & XS IHAl 115
Odt218 Xt =X bl 1,000,000 * 12& 12,000




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SRR

20,000& = 12& 240

OdhIIEg Xy 2xHZE 15,000
202 04| 1,500 1,200 300
01 2LHHI 1,500 1,200 300

OUigl&d &322 bl 1,500
301 dBtE A= 1,496,177 1,445,224 50,953
Vo=t - 2sEsSE42 1,496,177 1,445,224 50,953

Ol 921,186

-Ja2 703,423

A 4,481,100& » 198 = 12& 53,774

2 3,787,400 x 1H = 128 45,449

& 2,650,000& * 199 x 12& 604,200

-2gae 79,200

2= 500,000& = 14 = 12& 6,000

2 400,000 = 1€ = 128 4,800

fales 300,000& * 199 * 12& 68,400

&322 58,620

= 4,481,100& + 50% » 15 = 23] 4,482

=N 3,787,400& * 50%  1H * 23] 3,788

BRaE 2,650,000& * 50% * 19 x 23| 50,350

- Y E SOt 70,343

2= 4,481,100 * 60% » 1€ = 23] 5,378

- 33X 3,787,400& * 60% » 1H * 23] 4,545

aES 2,650,000& * 60% * 19Y¥ x 23| 60,420

-IEY 9,600

- B XA 40,0008 » 10¥ = 128 4,800

ERION: 20,000& = 20 * 12& 4,800

OZs gsHl 600,000  12& 7,200

o4t 8= 998,383,000& * 10.12% 101,037

O« AdiE2EEgE 4,500

O8 A3 50,000

OxAZ 70,000

O=&t| 178,668

— AlH| 24,0003 * 219 » 21 + 12& 127,008

-S5H| 70,0008 * 21 = 128 17,640

- 2HAH| 5,000& * 219 = 21 * 12& 26,460

- SAlY| 30,000 » 21 = 128 7,560

Ozl =& 3l 27,426

— = ghy| 30,000& » 21H * 52 * 33| 9,450

— AlH| 24,0008 * 21H = 62 * 33 9,072

- SAY| 10,0008 * 21 = 6L = 33 3,780




M MEXE 0

AN HEHE 24

chel: dwelEXS B (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

-S54 4,000 » 21 * 62 * 33 1,512

- 2HAlH| 4,000& * 218 * 62 * 33| 1,512

-2 =X &l 700,000& * 33 2,100

O&Hl | 36,105

-AE 450,000 = 2504 11,250

- AEH0IA 100,000& * 109K 1,000

- o2& 45,000& * 1004 4,500

— Al 160,000 = 21 = 4Z ¢ 13,440

-tel2s 45,000& = 174 765

- GK &l 4,000

-HZ2 &2 30,000& * 1724 510

-0IRAIA 20,000& = 174 340

— &H| Jrgt 300,000& * 14 300

o=l 24,555

- S A L3t 350,000& * 21¥ x 13 7,350

-&5 200,000& * 21 * 13 4,200

-SU3 100,000& = 21 * 28 * 13 4,200

-&cld 150,000& * 21 = 23] 6,300

- oA 80,000 » 21 * 13 1,680

=Y 15,000& * 179 * 13| 255

— AEFY 15,000& * 19 = 2J4 = 13 570

oY 150,000& * 12& 1,800

O&EX Zgdl (= &« =H) 30,000

OR4ada Azl 3,000

ORx=6d4 X 200,000 = 2 * 12& 4,800

O&HA SAH| 5,000

OZEAIE X0 150,000& * 63 900

OdIIE HAIIAF 21 HAHl 2,500,000 * 12& 30,000
307 QI2t0| ™ 80,000 60,000 20,000
B OIZAHHYBPESIHIEX 80,000 60,000 20,000

O&dYotllgs 298 N& 80,000
405 X+H&HF SHI 2,000 0 2,000
01 At = S F SHI 2,000 0 2,000

Odlal=sA MEI 2 1,000,000& = 2CH 2,000
M E=PNE] 295,000 240,000 55,000
308 X SHAMSOIA 295,000 240,000 55,000
08 NI Z0CHStE X 295,000 240,000 55,000

Onsldsd dMsdls 2x2 130,000

Ostiese o XS (EBE2 XY)
5,000,000& * 374 12 15,000
020189 34 = . =t =g NJABXS 50,000




S
L H2HS 84
D ARAEHS A

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Oxs =% u= X3 100,000
2ol AT M =SS i = 600,000 0 600,000
307 giztol & 600,000 0 600,000
02 QIZ2IA AAIE E X 600,000 0 600,000
OHM223 ZalAI2IH =SS M=l 600,000
2018 ERSH=ELE 2SS A 200,400 0 200,400
201 et | 2,400 0 2,400
01 AR 22l ] 2,400 0 2,400
OBFSH HLSYT AZA 204
6000 = 40,000 2,400
307 QI2t0| ™ 198,000 0 198,000
02 AI2tAAMAIE E =X 198,000 0 198,000
OZXSH=8E Mo Foj2x N 198,000
kL 80,000
- XA = 50,000
-Sgd S 48,000
—-AlH|EE 20,000
Mot =4 1,156,360 627,150 529,210
AZX[OIAE 43 1,156,360 627,150 529,210
O L MI2AD UHE I (MHAHA) 1,149,360 540,150 609,210
201 2Et2A Y| 25,800 5,950 19,850
01 AP 2t 2] H| 10,000 0 10,000
OF=ZMAE RIAMNHEZ 10,000
03 &AL E H| 15,800 5,950 9,850
OF=ZHNE SN <A 9,000
OEH? & dI2H U3 =282 ME
55,000 * 504 = 16JHCH 3l 4,400
OEH? & MIFH2AUE Iz 2 2SFL
30,000& = 5 = 16JHCH 3 2,400
202 o4 | 2,800 2,800 0
01 2Ll 2,800 2,800 0
OAZ=DIAE 2= H| 2,800
203 €2 F=&d| 10,000 10,000 0
03 Al ZH =X 2= XIH| 10,000 10,000 0
ONMSEHAI 2H X 2 28| 10,000
301 Bt A= 1,760 1,400 360
09 HAIAHI EAZ 1,760 1,400 360
O & =AU KNEAXAH S A
11,000& ~ 10 = 16JHCH S 1,760




M MEXE 0
N MsNY |4

ool AXX0OLAE 43 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 1,109,000 520,000 589,000
04 DIZHSHALAIRI 2 = 1,109,000 520,000 589,000
02018 oAl EH d=20Sstw e A3 30,000
OXM182l oi=017] 8=clS0oF2Ual 15,000
OHM408 Uet=eEa & 8=0Sstn FF
=l 80,000
02018 KBSHH &= Z=3eld 063 HE 95,000
OXM7sl HolAIZH 8= s=¢ HLUAWE 10,000
OHM11al LolAIEH &= ZFUE 40,000
02018 et=5 10w EHAEH M| ZHY EHE = O
3 260,000
OXM122 HolAlZH d=Ht=U2 30,000
020182 Zoi=Z OtctEUE 60,000
02018 OtAIOF EXE TR AE 21 SHIIHE 204,000
Oxbsesl #EJ 8258w =71UE 80,000
OHM198l St==NHAWZFI| &= o3I 50,000
OXN6sl oAl d=2ZZ20t0F HAAZLXTY
3 10,000
02018 st=[HStA HH W HH &= olIIH= 35,000
02018 Zo OtE5clZ OtetEUE 60,000
02018 ==& &= d=AH3 10,000
Ok &9 & d3 U3 ol XA 40,000
dXNEdH RIS 2Z=0HE 2< 7,000 7,000 0
201 LBH2E| 7,000 7,000 0
01 At 2t 2l 7,000 7,000 0
OsSHEXNEE 828 M=
2,000& = 2,000% 4,000
OZJIFSxES X
200,000& = 3 = 5004 =l 3,000
HE2LA A (HMSAE D) 80,060 73,172 6,888
Jl=&l 80,060 73,172 6,888
Jl2234 80,060 73,172 6,888
201 Let24d]| 29,180 20,252 8,928
01 At 22/l 29,180 20,252 8,928
OJIEAe &l 7,700
OJIEt==EHI 1,000
OZEHEY S dAR2E 2¢
252+300,000& = 128 + 2L EF 200,000& * 12 6,000
!
O=EANERXN 7¢ 200,000& » 6& 1,200
Oorzt & FL2 2L 4l 11,840
O=AD Xtz 120,000& * 12& 1,440




M MEXE 0
H: HH2IAH(MSXA)

Sl Il = Al (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

202 Od4dl 46,080 47,520 A 1,440

01 = LHA YI 46,080 47,520 A 1,440
OJIegfFd 46,080

203 YR =&l 3,600 4,200 A 600

04 FN2ELSZTH| 3,600 4,200 A 600
ORNE2Y R4 300,000& = 12& 3,600

204 MR FH| 1,200 1,200 0

01 MM 1,200 1,200 0
OZMg R FH| 100,000& * 12& 1,200

HRES(MSX D) 461,000 61,000 400,000

RSN 461,000 61,000 400,000

ANeLas(dsSHESAE £4) 461,000 61,000 400,000

311 X+ 201 Xk &k 2 61,000 61,000 0

01 Al - T - FXNENLII XL S0l AHaHE 61,000 61,000 0
OXNYM OlXtae(LdSHESAE =4) 61,000

601 XL S A& 400,000 0 400,000

01 Al -2 - FXNENLI)IsHL==42 400,000 0 400,000
OXNgN 234 (SHESAE T4) 400,000
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